1.

2 -2x-) + 28 AR

ol W, a, b, cE MN=

D -1,0, 1 @)
@ -1, -1, -2 ®



2.

(a-b+c)(a+b-c)E

@ a4 b%+ 2 - 2bc
@ a?-b? -2+ 2c

® a? + b% + %+ 2bc

%

-

A

ot

i

Al
=1

29

@ a?-b2%+ 2% -2bc

@ a?+b% - % - 2bc



3.

xt +4x3 - 2x% +ax + b7} o|x}A] o] LA

w27

D a=12,b=9
@ a=12, b=-9

® a=9, b=12



4. B3 -6x2+ 1lx-6< Q45 s}HA?

D (x+1)(x=2)(x+3) @ (x=1)(x+2)(x+3)
® (x-1)(x-2)(x-13) @ (x+1)(x+2)(x-3)



19993 + 1

o] 7F S
1998 x 1999 + 1 A&

5. (a+1)(a®-a+1) =d®+ 1< o]&3}]

Tatelat,

D R
=%



A 082 2x, -4 4 4229 AThOR0} A2 BB
Z

(x),g(x) 2t & o, £(3) + g(3) & 4f= Fo1H?

@ 19 3 20 @ o1 ® 2



O~
T X,

y

of distel, 541 20+ y+ (v - 3y)i = 3+ 27k AT

=

@ -7 ® -11

),

X
y



TatAl S

& a+bo) e

Al
=

she =

M

B

1t




9. 164 - 250ab® 9] Q15=7} ofd ALY

@ a @ 2a-5b
® 2a(2a - 5b) @ 4a® + 10ab + 25b*

® 2a(2a+ 5b)



10.

7} 9] Z10]7} xem, AI22] Zo]7} y em, =017} zem ¢ S HA of A

x+y+z=10, x2 +y?> +72 =464 0, o] ALHA| ] Aylol=
cm? Q1712

@ 45cm? @ 50cm? ® 54cm?

@ 58cm? ® 60cm?



11, O34 f(x) = x*+ax +x4+2E g(x) = X* +bx+2 2 U YHA7}
(x) 2k bt g(x) 2F R(x) o] Ht-5Fr7F x4+ 2L W], ab O 3427

ool

=

@9 @ 10 ® 12 @ 15 ® 16



AN ( _|_ ) 2 _ + — — 2l =z A
- ix
3 2.
‘ = ]

o, Al
x93t

H ol

Ll

® 2
@ 3
® 4

@1



13.

j
54

a

(x+yi)(z—i) =10 ¥
o) & Fotedet. (2 i= V-1)

Ct
=

A

=
=

St A vy, 29 4% (xy.2)



14.

A (2 =3+ 1) + (7 - )i = ~1 + 3% W5

St= A x, yol









17. 2= -1 1), (n+ i)t o] A47F HES sk A% 0 o] A4

@ 074 @ 174 @ 271 @ 374 ® 47



18. E4% x =a+bi(a, be AF) 7% =3+4i, x* = 2411 5 TS

Ha+b 2 FH2? (HFi=V-1)

@1 @ 2 ® 3 @ 4 ®5



| tisto] B4 = a4 bi & B EALS 7 =a-bi

a

@ 5a

® 0

N’



71, 22 O THStA 21+ 20 =2 D M, 71 - 20
21, 22 9 Al EAaaoltt)

® 3 @ 4 ® 5



21. (x-1)(x=3)(x = 5)(x=7) + a7} o|ZF2 9] FAAFo| HEZ 49
e Hatw?

@ 4 @ 8 @ 12 @ 15 ® 16



a* - a?
22, ala+1)=1¢ o, 5167—194 0

D1 @ ®

N | =
Wl

B~ =

o] =



T AR=

() x-22 ol o] 2 o(x) 2 shel AL 5
(x) 8 BHA] x + 8O2 LR Lol A7} 30k, ol £(x)
2 e oA

@ -10 ® 9 @ -9



24. xy(x—y) +yz(y —2) + zx(z — x) = A=EoHotA?

D ~(x-y)y-2)(z-x) @ ~(x+y)(y-2)(z-x)
® ~(x=y)(y+2)(z—x) @ —(x-y)(y-2)(z+x)
® -(x-y)y+2)(z+x)



25. Al Y5 a, b, c7ta® + b3 + ¢ = 3abc & THZAZA W q, b, cE A

Volgp @k ol W, at bt el

Mo sk 47rgel Hole

ghe Fotolet.

D L
=¥



26. 12-2% 43242 4 52— ... 4 992 AAstolat,

® 99 @ 100 @ 4950

@ 5050 ® 10000



27. A% a, b, coll WSt [a, b, ¢] = a* + be?F SFAL x +y 4z = 10,
P 4+y?+ 2 =129 W, [x, 2y, 2 + [y, 22, ] + [z, 2x, y] O] B2

@® 10 @ 22 ® 88 @ 100 ® 144



28.

ne,

S

a

Al
al

cFaHA

o]
=

Ct -
=R

X2+ 4x + 2k ¥ + 3x + kY HHFFEIT xof g
o, A4 kAtE2] & Fotofet



29. xof T Al R oFA] A(x) = xt-10x2 49, B(x) = x* - x3 - Tx? +
x+6, C(x) =x(x-3)(x2 +a) — (x=3)(x? + b) + 8 9] Hhx+7}
NRHAL W, a+ bS] 7

@® 4 @ -4 ® 8 @ -8 ® 2



30. 4ar+b 2 +bxta o ARIET 5 o QAN W), H2F

H4?
D (x=2)(x-a)(x-b) @ (x+2)(x-a)(x-b)
® (x+1)(x+a)(x+0) @ (x+1)(x=a)(x-b)

® (x-1)(x—a)(x-Db)



